.
Necess, by r = A
ld’- " & 7
et
= M; o) + SuT e« 2T L5(x)

PRV BN mm ARG

2 ? A
PR P AN A Seod e o (\ Y pess
R S TN 0 e UL R A Rl

Le*) £ TG £ TP AG)

7o =0 o
({ (o

)

M_u,b P e_c‘uldj = shod. erlition

> ackually s equelihy = covp, S\ackoiss



gu. f’-c.’a R 0? J’
e

97 = guru?) = m Llnue?)

stek. co~d

':_é‘ L()c‘*, u-',V-’)
= fam it suthio+ TV
'02“.{. _}‘A-J‘- O /gﬁ
= $ut)
SuJotg. A ‘F ok ¥
Qe DR

&= ;'F(tjﬁ 7 ) 4 b‘r(uy'ﬂ "‘QLU
= Fiy) 7 Fod ok y

—

win’ - 'l‘;)'\' fU—{XCfC:S
X .



AX"‘D @ Y & Nqa
rewnrke \)M‘Q-W-— v deons oA .j'

At J__ ‘jT N N 3— + (.,T"J ‘j,

skt ok, : 7 C Loy T + T AX) =

¢
Ou:’(k Qy + ATu =~
T\, Corip. Slasde F{
V poo- Fecs - A-K =9

cluﬂl GM‘ :

y: K[J v ]

Ra———a

"

S\I/H\ Vf’ ( J—Z'U(;u: + 2. "’i( %, - 94 }Ci"-ﬁ)) -
B —IWifi¥ =0

= TwigX 5

s Ve, ( T wili-%;-4ig)) =
> T wivi = 0|
Ve ( C T8 - Sui% + Twi(l-Y; ~ u;;(/ﬁ%»r@.ﬂ] =0
Qe (CA4TS ~@VTY t JT(3-2)) =9
( C.1 —~vAr~—w=0

To= ci-v.] = 02wzl
[w= C1-V.




Vi 9‘1";9

FY SN

Wi Cl=% - 9i T8 e )= 0 oA
W

as A Svih

V20, w70

"\?(\@
A\ Meew

W =0

g7 40 (B4 5;3>



Wessom x? v 2xg) X

N e
XX’:'O /X%O

Ex- % = WYuly
Joss s xg)= y—¥elly
P

jefd = X7 V&) € (=33)
= qel® s; e L)

—2 PV—‘—O

N

a dyne XS 5 oo ol'-«{lu

E———

._-Xa."r' V-ﬁt\dfﬂ = lgi y =l

s ¥ N a»l‘zhmcw.b, ‘,{L ;j?d)'
e SA\LY



